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1: 01 BEEECOBEIZEDILVDERISTHELEL=M,. Q1 What was the percentage of your attendance
in the course? UHLE-BEIZ2LVTOER]I[About Yourself]) [ BIR=K: 4 FiR 1]

mEES EES A FiiR | £FTHR
1 1. 100-90% 3,119 4 3.8
2 2. 80-70% 470 3
3 3. 60-50% 80 2
4 4. Less than 50% 32 1
At 3,701

2: M2 HEE COBRECEBIETICHBELEBAXENLBNTIT N, Q2 What was the percentage of your
punctual attendance in the course? ([ =BHEHIZDWLTOERII[About Yourself]) [ R : 4 FiR 1]

mEES mE A iR | £2FTHR
1 1. 100—-90% 3,028 4 3.8
2 2. 80-70% 494 3
3 3. 60—-50% 109 2
4 4. Less than 50% 62 1
At 3,693

3: 3 BEICIZFHMICHRYMEAELED. Q3 You actively participated into the course. ([#HEF-BEIZDL\T
DE R ][About Yourselfl) [ BIR=K: 4 HIR 1]

EEES | & A# Hifim | £FF8R
1 1. N58<Z 585 I(Strongly Agree) 1,509 4 3.3
2 2. 2585 1(Agree ) 1,679 3
3 3. [ 5B H7L I(Disagree) 404 2
4 4. TE>1={F5EH7E0 ) I(Strongly Disagree) 81 1
P
a&t 3,673

4: 4 BREANDERF.ZREDIZA=F5—230FEYELED,. Q4 You communicated with the lecturer(s) by
asking some questions or other in the course.([#7% /=B &= DLV TDE R 1[About Yourself]) [ FIRK: 4 HR 1]

BEES EES A iR | £FFHR
1 1. [58<Z 585 I(Strongly Agree) 1,047 4 2.9
2 2. TZ2585 |(Agree ) 1,574 3
3 3. I #5B H%ilL v (Disagree) 838 2
4 4. T FE-1={F5 B 7%\ I(Strongly Disagree) 218 1
|t 3,677

5: 5 BEDEAXEFEELLEL=D. Q5 You made good preparations about the course.([&7ZET=-B HI[ZDL\T
DO E)[About Yourself]) [ BIRHK: 4 HFiR 1]

BEES E&E AH¥ FiiR | £FFEYR
1 1. [58<Z 585 I(Strongly Agree) 972 4 28
2 2. 2585 1(Agree ) 1,469 3
3 3. [Z5B 7L I(Disagree) 954 2
4 4. TFE-71={F5 B H7%0V I(Strongly Disagree) 286 1
X1 3,681




6: 6 BEDEETFZELLLELED, Q6 You made reviews well about the course. ([HEF=-B HIZDWL\THE]
[About Yourself]) [ iR : 4 FiR 1]

B&EES B A# s | £FFEHR
1 1. I58<Z 585 I(Strongly Agree) 825 4 28
2 2. T 2585 1(Agree ) 1573 3
3 3. [Z5B 7L\ |(Disagree) 1,032 2
4 4. TE->1={ZF5B 1%L\ |(Strongly Disagree) 252 1
At 3,682

7:07 VINRET.BEOBM. AR, BESEMOEE(LBE I REINEL=H. Q7 The objective, contents,
criteria for the grades were appropriately shown in the syllabus or other. ([{2F L& B (=D TH ERE 1[About the
Lessons and Lecturer(s)]) [ iBIR=: 4 FR 1]

EEES (EE A#| iR | £FFHR
1 1. [38<Z 525 I(Strongly Agree) 1,420 4 33
2 2. 2585 1(Agree ) 2,015 3
3 3. 5B H7%iL v |(Disagree) 186 2
4 4. [F-51={F5BH70\I(Strongly Disagree) 55 1
ADE
a&t 3,676

8 : I8 BEMDARIILINRADABREMIELTIVEL =D, Q8 The actual contents in the lessons were
corresponding to those in the syllabus. ([ &858 (2D TH F /] [About the Lessons and Lecturer(s)]) [ &R
H:4FHR1)

BEES EES A# s | £FF8R
1 1. [38<Z 525 I(Strongly Agree) 1,453 4 3.3
2 2. TZF585 1(Agree ) 1,999 3
3 3. 5B H%iL v |(Disagree) 178 2
4 4. TFE>71={F5 B H7%\I(Strongly Disagree) 44 1
At 3,674

9 : o EBEEMBIIFELICHEEINATILVEL=DN. Q9 The number of lessons was appropriately maintained. ([$2
FLHE(IZOLVTHOERII[About the Lessons and Lecturer(s)]) [ 3EBIRK: 4 HEIR 1]

mEES | & A# Hifim | £FF8R
1 1. N58<Z 585 I(Strongly Agree) 1,655 4 3.4
2 2. 2585 1(Agree ) 1,782 3
3 3. [F5B 7% [(Disagree) 197 2
4 4. TE>1={F5 B 70V I(Strongly Disagree) 38 1
P
a&t 3,672

10 : B10 BERNBTOH 5 E(LEY) T, BECRELEH TL/=H . Q10 The contents was appropriate in terms of
difficulty. ([#B3 LZHE I DL TOHOE R ][About the Lessons and Lecturer(s)]) [ BIR=E: 4 HiR 1]

mEES | & A# Hifim | £FF8R
1 1. N8 <ZF 585 I(Strongly Agree) 1247 4 39
2 2. 2585 1(Agree ) 1,906 3
3 3. [ 5B H7%L I(Disagree) 412 2
4 4. [ FE->1={F5 8%\ |(Strongly Disagree) 110 1
&=
a&t 3,675

11 : 1 BECLHELZPHEABIIELICZEATHEL=D. Q11 You had already learned the necessary prior
knowledge before the course.([12E L& B IZDLVTOH EEJ[About the Lessons and Lecturer(s)]) [ RBIRK: 4 HiIR
1]

BEES E&E AH¥ FiiR | £FFEYR
1 1. [38<#F 585 I(Strongly Agree) 916 4 2.9
2 2. TZ2585 (Agree ) 1,717 3
3 3. 25 B H7VI(Disagree) 855 2
4 4. T E->1={F>5B 1%L\ |(Strongly Disagree) 185 1
=1 3,673




12 : 12 HELIIBEICKYMMNERIEESR T, SHICEAET IR BEEATHZLEBNELR=M, Q12 You
would like to study the academic field related with the course by being intellectually stimulated. ([{2ZE L&A (DL
THERE I[About the Lessons and Lecturer(s)]) [ :BIR=: 4 HIR 1]

B&EES El& A# FMHiim | £FFEHR
1 1. [58<Z 585 I(Strongly Agree) 1177 4 31
2 2. 12585 1(Agree) 1,779 3
3 3. [Z5B 7L\ [(Disagree) 552 2
4 4. TE>1={ZF5B 1%L\ |(Strongly Disagree) 171 1
At 3,679
13 : 13 FERBIFHETLED, Q13 The course was useful for you. ([ LHBIZOLVTNE
fi J[About the Lessons and Lecturer(s)]) [ :BiR=: 4 HIR 1]
BEES EES A s | £FFHR
1 1. [38<Z 525 I(Strongly Agree) 1,549 4 33
2 2. TZ585 I(Agree ) 1,713 3
3 3. [Z5B 7L I(Disagree) 294 2
4 4. TE>1={ZF5B 1%L\ |(Strongly Disagree) 117 1
At 3,673

14 : (14 RiR. ABEE-FEBBREZERTIREDEZES. FLVAITHRATLIZ,, Q14 The blackboard,
audio—-visual and/or IT equipments were effectively used in the case (if applicable). ([IRELZH S DULVTHER]
[About the Lessons and Lecturer(s)]) [ iBIR=: 4 FR 1]

BEES EES A# s | £FF8R
1 1. [38<Z 525 I(Strongly Agree) 1,294 4 3.2
2 2. 12585 1(Agree ) 1,914 3
3 3. 258 7%\ I(Disagree) 335 2
4 4. [F-51={FS5BH70\I(Strongly Disagree) 109 1
=111 3,652

15 : fl15 THXRARAMOTIVUNEEDHBIBHM EBENBRLZEBRTIDICT/ILFELI=M, Q15 The textbook and/or
other handouts were useful for you to understand the contents in the course.([123%LZ B (IO THER][About
the Lessons and Lecturer(s)]) [ B|iIR=K: 4 HIR 1]

BEES Bk A s | £FFHR
1 1. [58<Z 585 I(Strongly Agree) 1,432 4 33
2 2. TZ585 I(Agree ) 1,866 3
3 3. 25 B 7Ly I(Disagree) 287 2
4 4. [F->1={F5BH70\I(Strongly Disagree) 87 1
|t 3,672

16 : 16 /—FOAEITRYOTH-=TTH., Q16 It was easy for you to take notes in the course.([{2ELHE
(ZDLT DO BRI )[About the Lessons and Lecturer(s)]) [ &Rz : 4 FHiR 1]

EEES | & A# Hiim | 2FFHA
1 1. T58<Z 585 I(Strongly Agree) 1,082 4 3.1
2 2. 12585 1(Agree ) 1,818 3
3 3. [#5B 7%l |(Disagree) 640 2
4 4. T FE->1={ZF5 8%\ |(Strongly Disagree) 121 1
DE
S5t 3,661

17 : B17 HAEDOE. FELAITEZENYDOTMo=TFH., Q17 It was easy for you to hear the lecturer’ s voice
and the manner of speaking. ([ 2¥ & B DLV TOHO B ][About the Lessons and Lecturer(s)]) [ BIRK: 4 FHiR 1
]

BEES E&E AH¥ FiiR | £FFEYR
1 1. [38<#F 585 I(Strongly Agree) 1,498 4 3.3
2 2. TZ2585 [(Agree ) 1,773 3
3 3. 25 B H7VI(Disagree) 301 2
4 4. T E->1={F5B 1%L\ |(Strongly Disagree) 81 1
=1 3,653




18 : 18 BETEMBINSEELERMNBMBAINTOEL=D, Q18 The lecturer(s) emphasized the important
points to be understood in the course.([{2FELH B IZDULV\TD E [ ][About the Lessons and Lecturer(s)]) [ 1#iR
H:4HEHR1]

E&EES B A# s | £FFEHR
1 1. [58<Z 585 I(Strongly Agree) 1.401 4 39
2 2. 2585 I(Agree ) 1,813 3
3 3. [Z5B 7L\ I(Disagree) 370 2
4 4. [F-51={F5BH7%:0\I(Strongly Disagree) 73 1
At 3,657

19 : (19 HRRBREEITBEADSM(FEELE)ZRL, BRWEHBICTKAIHIELTOELEZD, Q19 The
lecturer(s) responded to students’ questions and/or discussions by promoting their participation. ([{Z3ELEBIZDLY
THEE I[About the Lessons and Lecturer(s)]) [ :BiR=: 4 HIR 1)

BEES EES A iR [ £FFIR
1 1. [38<Z 525 (Strongly Agree) 1,441 4 39
2 2. TZ585 I(Agree ) 1,705 3
3 3. [Z5B 7Ly I(Disagree) 434 2
4 4. [F-51={F5BH7%0\I(Strongly Disagree) 86 1
At 3,666

20 : [5120 HETF-ITE-T BEDEAFITEYLLDTLI=MN., Q20 The way of proceedings was appropriate for
you. ([1BELH B DL T O E R 1[About the Lessons and Lecturer(s)]) [ BIR=K: 4 HiR 1]

BEES EES A# s | £FF8R
1 1. [38<Z 525 I(Strongly Agree) 1,242 4 3.2
2 2. 2585 1(Agree ) 2,008 3
3 3. [F5 B H%ELI(Disagree) 323 2
4 4. [F->1={FS5BH7:0\I(Strongly Disagree) 95 1
=111 3,668

21 : 121 HEFITE-T  BEZRKEEVNEBDTLI=D. Q21 The course was interesting for you. ([$83 &% E (C
DLVTDER)[About the Lessons and Lecturer(s)]) [ IR : 4 HIR 1]

mEES | & A# Hiim | 2FFHA
1 1. T58<Z 585 I(Strongly Agree) 1,411 4 3.2
2 2. 12585 1(Agree ) 1,740 3
3 3. [F5B 7%\ |(Disagree) 386 2
4 4. TFE-1={F53 B H%) |(Strongly Disagree)4 116 1
A
SE&t 3,653

22 - 22 BEICHTEIHEDREZBRLEL=D. Q22 You felt the lecturer’ s sincerity in the course. ([1B% &%
BIZ2oWTOER][About the Lessons and Lecturer(s)]) [ 3BR=X: 4 FHiR 1]

mEES | & A# Hifim | £FF8R
1 1. T58<Z 585 I(Strongly Agree) 1,656 4 3.4
2 2. 2585 1(Agree ) 1,710 3
3 3. 25 B 7L\ I(Disagree) 223 2
4 4. T FE->1={ZF5 8%\ |(Strongly Disagree) 70 1
&=
a&t 3,659

23 : 123 LEplIcHLT, COBEICHRELELE=D. Q23 Comprehensively evaluating, you were satisfied with
the course ([1BZ L& BIZDLVTHOE M I[About the Lessons and Lecturer(s)]) [ ®BiR=: 4 HR 1]

BEES E&E AH¥ FiiR | £FFEYR
1 1. [38<Z 585 I(Strongly Agree) 1,441 4 3.2
2 2. TZ2585 [(Agree ) 1,785 3
3 3. [Z5B 7L I(Disagree) 324 2
4 4. T E->1={F5B 1%L\ |(Strongly Disagree) 125 1
a&t 3,675




